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91T - I/PART - I
T fa%E Ug RIS/ CHILD DEVELOPMENT AND PEDAGOGY

FéSer : Frefrye gt & Gt 37 @ g ged afrd e g

Direction : Answer the following questions by selecting the most appropriate option.
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1.

dd&

To cooperate the adolescent it is
essential to

(1) Inspire

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of.the following is a wrong

statement about emotions of an

adolescent ?
Emotional expressions are

ied by learning.

ions are permanent.

(3) Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external

stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in-

different classroom.

(3) Meeting individual differences in

special schools.

Meeting individual differences in

home based instruction.

4)

BT O
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

- (3) Peer Groups

(4) Films

Moral effectively
inculcated among the students when

values can be

teacher

(1) Frequently talks about values.
(2) Himself practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses:.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.
(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

nkmg about ways of reacting.

thod of dealing with adolescent
parents and teachers is
(1) Autocratic (2) Permissive
(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer

group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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13.
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(2) fareres @ faweor gt § aRad=
(3) UIZFFE] & G |

(4) qrgFEaE] F Pl B

Level-3/167

(5)

10.

11.

12.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1)
(2)

Speaking accurately

Writing  without committing

mistakes
(3)
(4)

Continuous

Listening message properly
Doing mathematical calculations

and  Comprehensive

Evaluation (CCE) aims to evaluate
(1)
(2

The reasoning of child only.
All aspects of development of
child.
(3) The knowledge of child only.
(4)m The understanding of child only.

c he following 1s not a trait

a creative child ?

(1) Elaboration
(2)
(3)
4)
Learning outcomes means

(1)

Originality
Accuracy

Novelty

Change in the behaviour of the
student.
Change in teaching method of the
teacher.

(2)

(3) Recognization of the subject-

matter.

(4)

Completion of content.

B.E. Q.
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15. Differentiation of emotions takes
place at the time of
(1) Birth of child
(2) During infancy
(3) During the period of adolescence
(4) During adulthood
16. Which of the following provision is
not suitable to meet individual
differences among learners ?
(1) Their abilities should be assessed.
(2) Adequate facilities and material
should be provided.
(3) Labelling them.
(4) Making Individualisation necessary.
17. Working with adolescents,
particularly maladjusted one, which is
not appropriate ?
:aitical approach
mocratic approach
(3) Collective approach
(4) Ideal approach
18. Heredity plays most important role in

the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child

(4) Cultural development of the child
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JHEEE® BRI gkuied S & s
g g ?

(1) | & e
(2) T=H @ |
(3) STEHT H 1Fw
(4) wgfr & Faw
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19.

20.

21.

22.

A

The
learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

@2 It make

interesting.

helps to content

(3) It helps to understand the content
by simple methods.

It saves time.

(4)

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity

(3) Validity (4) Subjectivity

Which of the following is the
characteristics of constructivist
classroom ?

(1) Students. <design experiments,

d

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for the 'fight'
answer.

draws conclusions and compare
their findings.

ledge is objective, universal
omplete.

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

CRT0.
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(1) e B smafy

(2) T Frarere erafy
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24.

(1) = Jofs ot

(2) =0 JgfFTE ST
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(4) A9 g JgfRE =T

98 H=IE WS g ol [l @ger

B AR B, FERET B q°r, A
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B S & it 3 e
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(2) A e (A.Q) B B
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25.

26.

27.

(1) fawsd & uamredis

) ﬁﬁ%ﬁ%ﬁa(wﬁamﬁaﬁ'{)
(3) WM ¥ fafire

(4) R
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23. According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period
(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

24. A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

25. That internal state of mind that

directs
behaviour'is ealled as

(1) Interest (2) Opinion
(3) Attitude (4) Motivation

ﬁpeo;)le adjust easily with new
because they have high
(1) Intelligence Quotient (1.Q.).
(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).
(4) Spiritual Quotient (S.Q.).

arouses, and maintains

27. Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal



28. UF BF a1 qhar 3 e Hfed aRem
FT @ Bl IS A Y IW o8 IE
A YT HieTaEhd 34 & aer B 2
zge o

(1) = I

(2) @ IO

(3) T SR

(4) = 9T a’ o4O

afrTEal BfEd 9™ B R o
Frefafiad & @ o #49 Tod & 98 ©

(1) I8 Rl @ ArEden, e
Al ST A H HF @ B

29.

(2) T& Y, SEEE R WY &

Hew T oo adl 2

(3) %ﬂ%ﬂﬁﬁﬂ‘iﬁﬁﬂﬁﬁ
TFACOT 9T e &l & |

(4) T SFIHASE-SNTTH, HHE-THEM,
g qur e e

30.

(9)

A

28. A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

29. Which of the following statements is not

correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.
(2)

It stresses the importance of

enquiry, observation and

investigation.
3) It
knowledge to the learner by the

emphasises transmitting

teacher.
(4) It uses methods like experiential

learning, problem solving, concept
ing and creative writing.

ttitude 'I do not care' is a

type of behaviour which can' be

called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/167
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HIT - II/PART - 11

A1 - 1 (f&<dt) / LANGUAGE - I (HINDI)
fadsr FrafitaT g2t & G 37 % f @98 afva Ry g

31.

32.

33.

34.

35.

oy fahed I g

() R = fag + i

(2) THMER = THA + o1
@) gft = gg + &
(4) Y = &A1 + Ty

‘a’ g § PA-Ar g @ R ?
(1) 7 (2) @

3) & (4) 13
‘Te 58 WX Bwar R T ay
0% A= g

(1) SAreHErT

(2) oE

(3) STRId

(4) STTHIAT

S i o i § R

% R0 oF 9= 8

(1) 3fea

(2) s

(3). Mftreraferesr

(4) WA

=t o/l & @ F9-T 9= ‘@R 7
(1) ™

(2) famm

(3) TS

(4) 9

- % fm
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(1) e

(2) =
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g R ?
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(2) FEmE

(3) wlenfig -
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(3)

(4) i
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(1) THmUeT

(2) B

(3) geo™

(4) e

.............
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e o8 € ol g & W A ‘angfi ¥ o
W F UEF TN B owE @ oofe ¥ Iy ¥
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60.

T o 2

-

(3) =
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(1) sy
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HIT - III/PART - 111

#TST - 11 (3 AH)/LANGUAGE - II (ENGLISH)
Direction :  Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is

given :

Copi.......... = Plentiful
(1) ous

(2) some

(3) ose

(4) ful

Level-3/167

64.

65.

66.

I don't enjoy going to the dentist.’

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the

ark.
a ather said us not to go to the

park.

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67. Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

68. Identify the figure of speech in the

following sentencg i

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

69. Which of the following words is mis-

spelt?

(1) incongruous
(2) chro.nological
(3) synchronus

(4) sympathetic

Level-3/167
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A

Direction : (. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70. (1) My brother is the student in
Mayo College.
(2) My brother is student of Mayo
College.
(3) My brother is a student in the
Mayo College.
(4) My brother is a student in Mayo
College.
71. (1) Neither of them were present
there.
(2) Neither of them was present
aer of them present there.
(4) Neither of them are present
there.
72. (1) The roses smell sweet.
(2) The roses smell sweetly.
(3) The roses are smelling sweetly.
(4) The roses are sweetly sﬁ:nelling.

P.T.0,



73.

74.

75.

(1) You certainly did not ought to do
it.

(2) You certainly ought not to have

done it.

(3) You certainly did not ought .to

have done it.

4)

You certainly ought not to have

been done it.

(1) Who was the book given to ?

(2) Who the book was given to ?

(3) The book was given to who ?

)

transcription of the word 'I__,ocate'
(1) Ifluket/

(2) .Klakeitf

(3) /Nou'keit/

(4) /ouket/

Level-3/167
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76 Choose the correct direct speech of

T

78.

the given reported speech :
He said I'd better go because it was late.

He said, "You'd better go because

1)

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because
it was late."
Which of the following is spelt

correctly ?
(1) Pediatrician

(2) Padritician

Whom was the book given to ?
a aaimdan
Choose ~ the  correct  phonetic latrician

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is

above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/167

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
“know; and on the other hand, the laying in
of a stock lof knowledge, or mastering any

art or science seems to destroy that native

pli to warp and trammel the

dom of mind which is

e s receiving and giving their

due weight to ordinary and casual
. impressions.

81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T.O.
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82. What is not a requisite of common Direction : (Q. Nos. 86 to 90) : Fill in the
sense ? blanks with the most suitable oplion :
(1) the utter absence of all
pretension 86. ... child should learn to read and
(2) bigotry and narrow minded write.
notions (1) All (2) Every
(3) truth and propriety 3) Wimle (4) Both

(4) an unbiased freedom of mind

87. Can I ask your ........... , do you think

83. ' f fi ing i
83. Which of the following is not stated TV vislanics i Barmiful ¢

by the writer in the passage ?

(1) Affectation destroys common (1) opinion (2) favour

it (3) question (4) advice
(2) Common sense requires the

utmost simplicity and sincerity. 88. Where is my wallet ? I left it .............

(3) Common sense feels the air of the kitchen table.
truth and propriety as the fingers
feel objects of touch. (1) at (2) in
(4) Common - sense destroys the (3) ‘on (4) by
native simplicity and warps and
trammels the freedom of mind. 89. Take some medicine and the pain will

84. Fill in the blank with the mdstm (@m0 wmy .
appropriate word : a @) off

Common sense has been well
pronounced to be ‘fairly worth the
seven' ...........

(1) Notions (2) Sciences

(3) out (4) away

90. The walkers finally arrived at their

destination. They ............. all day, and
(3) Talents (4) Wits .  they certainly needed a rest. They ......
o thirty miles.
85. Which is not a synonym of the word
'pedant' ? (1) had been walking; had walked
(1) dogmatist (2) had walked; had been walking

(2) formalist

8) perfuctionist (3) walked; walked

(4) down-to-earth - (4) have been walking; had walked

Level-3/167
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AT -IV/PART -1V

SIS / POLITICAL SCIENCE
T : Fraffe ged & a7 &7 @ g gag ara A% i

Direction : Answer the following questions by selecting the most approp riate option.

91. fFE B & ‘TG H ddY THUHSD
wdaar 4 7ef e ?
(1) STEEEYanEl T
(2) HHER T
(3) FETTEN T
(4) gq9 TH

HgHE Ty gEn WRwe & e OaEE
AR TaEtE gl HoFE
FH & o W i ferar @ ?

92.

(1) 2118 (2) 2124
(3) 2128 (4) 2132

dRas ®w ¥ ow@R fBm W
G- G F HAY &

93.

(1) F=-T°9 qad |
(2) FCIEETH B AHEH H
(3) frars Fw 4
(4) |9 #l T A

ARG § s Gl & e
FrRYT FAF FH TEAY

(1) T dshe Rl dae & R SR
wed g e R ST A §

94.

(2 Tid BN W, daem fEmE ®
T F B Y T a1 R

(s)g%sesﬁﬁhmaﬁﬂsﬁfﬁa

& fafrr sfwfad 21
(4) B I Hellud UH-GEAHS
g 2 e R T oAn
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What kind of 'State' is not related to
'Negative Liberty' ?

(1) Laissez Faire State

(2) Nightwatchman State

(3) Welfare State

(4) Minimal State

91.

Which Resolution of United Nation's
Security Council the framework for
of
Weapons was decided ?

(1) 2118 2) 2124
(3) 2128 (4) 2132

92.

elimination Syrian  Chemical

93. The 'Munshi-Ayangar Formula' used

in the Constituent Assembly was

related to

(1) Centre-State-Relations

(2) Rights of Minority

(8) Preventive detention

d ial Language of the Union

4 a the . incorrect statement
regarding Constitutional Amendments
in India
(1) Such Amendment Bill can be

introduced in either House of

Parliament.

(2) The President is bound to sign
the Amendment Bill, when
passed.

(3) Article 368 mentions three
methods to amend the
Constitution.

(4) First Constitutional Amendment

passed by Uni-Cameral

Parliament.

was

P.T.0.



95. W & SEifw W oA-FrEET & R
P @es ¥ 2012 ¥ SaamE amEr
AT F 7
(1) e wrife sfrem
(2) THEE 99 9REg
(3) AT ufiyg
(4) 79X fpam afF e

96. fr=fofed & & 39 dgg e o9 @
fao arfpor 728F & 7

(1) o O off (SRief o wree)

(2) =g uF o (feg w@rer Ge)
(3) O W (sFiisiiy =)
(4) o & g (i qraar da)

97. Wed [T FAE F, Bug F g
T o7 ?
(1) Hlo M@=
(2) Fo GYHY
(3) %o o wE
(4) Fo THo Hsii

98. frfafad ® & FA Pr-BAEAK
gy 2 7

e
(2) AT oG9 (EEC)
RIRE]

(3) FAMET &9 (EU) B w&mem
(4) ST &= W9 (ARF) & 77

99. f=ifka &, o9 wER-aEg @
oyt aimey § defyg 787 R 7

(1) Me e
(2) TFe =rea
(3) Wemer e
(4) S THo FaEa
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95. Which organisation organized the
Jansatyagrah Yatra in 2012 to achieve
peoples' control over land and livelihood ?
(1) Gandhi Peace Foundation
(2) Samajwadi Jan Parishad
(3) Ekta Parishad
(4) Mazdoor Kisan Shakti Sangathan

96. Which of the following is not a

specialized agency of the United

Nations ?

(1) ILO . (International Labour
Organisation)

(2) WHO (World Health Organisation)

(3) ICJ (International Court of Justice)

(4) ITU (International Telecommunication
Union)

97. In the first Presidential Election, who
was the Opposition Candidate ?
(1) C. Rajgopalachary
(2) K. Santhanam
(3) K.T. Shah
4) K. M: Munshi

8. Which is the first in chronological

9
der ?
) na's entry to World Trade
anization (WTO)
(2)

Establishment  of  European
Economic Community (EEC)

(3) Establishment of FEuropean
Union (EU)

(4) Birth of ASEAN Regional Forum
(ARF)

99. Among the following, who is not
related to the Modern perspective of
Political Theory ?

(1) David Easton

(2) Robert Dahl

(3) Gabriel Almond
(4) George H. Sabine




100.

101.

102.

103.

104.

g ToFia®s a9 & FAE-fEE
ST O A 1977 & @ba g
EIEASEII: I

(1) =49

(2) WA FEE

(3) wcA el

(4) 9RGE P &

freifed § § AR-8 gen SfduEE
gﬁ:ﬁﬁ@gﬁw%aﬁﬁﬁﬁﬁm 7ET
(1) AT 9% e

(2) afee # AER # sel

(3) amar °iE & 3

(4) qdt 209 § dHEbE TH-IHR

Y
i

1969 ¥ FHIAG T@ B [@¥OME b
G F T P AT 7

(1) THo [eeifeiar

(2) FHo FHTA

(3) Elo FHo &AM

(4) o Hlo FARA

‘TEET FE At B R
(1) d9 g A

(2) T g€ |

(3) |uadl g d

(4) omERre e §
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=

101.

102.

3.

104.

In India, Secularism is not in

conformity with

(1) Cultural plurality
(2) Majoritarianism
(3) Principled distance

(4) Benevolent neutrality

On the election symbol of which
Political Party, Janata Party contested
in the 1977 Lok Sabha polls ?

(1) Jan Sangh

(2) Congress (O)

(3) Swatantra Party
(4) Bhartiya Lok Dal

Among the following, which event is
not related to the end of Bi-Polarity
in International Relations ?

(1) Tiananman Square Violence
(2) 'Demolition of Berlin Wall
(3) End of Warsaw Pact

) ular Mass uprisings in East
ope
o was the President of the

Congress Party, during its 1969 split ?
(1) S. Nijjalingappa

(2) K. Kamraj

(3) D. K. Barooah

(4) J.C. Kumarappa

'Cyber Laws' are included in
(1) Union List

(2) State List

(3) Concurrent List

(4) Residuary Subjects



Y W U Rl 4 96ia fget

W foar #if

(A) = H FEE e aggel @
Froger faavor @ awen &

B) 98 9 E-faEid @
itk =g HIeer g |

SUF FYF H A B T gE Y ?
(1) &I (A) 9&1 8

(2) Fa9 (B) & ¥

(3) (A) 7 (B) 3N @& &

(4 T (A), T B) TE 2

fhe HgF T werated & gEv
# fatta Aifaga g9 & R o ?
(1) PBras

(2) 37 BaTESies

(3) g e

(4) F T=Y

Bt & o &9 R srel
GICCIE ) qar #r Aof
@ e ?

(1) 18 (2) 20

(3) 21 (4) 22

Frtifeed el 9T ey i
[A] TTB% 143 Foaw AR
HEAEHR] TR & ST ¥

[B] 30 og=% & ofdid @eme o
TS # s ‘iR 2, T 5
‘iR |

[C] = 99 Udr goe 39 j
IF FT GHhT & |

qua\'-v 7 7 FIF-A/A F4T g8

227

(1) #ad (A)
(2) FaT (A) T (C)
(3) Fa (B) W (C)
(4) Faa (B)
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105.

=

106.

107. o)
i

108.

(22)

105. Consider the following statements
regarding Rawls' ideas on Justice :

(A) Problem of Justice is the fair
distribution of Primary goods.

(B) He recognizes his theory of
Justice as pure Procedural
Justice.

Which of the above statement is correct ?
(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) & (B) are correct

(4) Neither (A), nor (B) is correct

106. Soviet Union opposed second term to
which UN Secretary General ?

(1) Trygve Lie

(2) Dag Hammerskjold

(3) U Thant

(4) Kurt Waldhiem

Besides  Hindi, how many other
languages are recognized as scheduled
language by the Constitution ?
1) 18 (2) 20
(4). 22

107.

the following statements :

] cle 143 deals with the
Advisory Jurisdiction of the
Supreme Court.

[B] To seek advice, under this article,
is literally President's 'Right', not
'Power',

[C] Supreme Court
tender such advice.

Which of the statement/s given above

is/are correct ?

(1) (A)only

(2) (A) and (C) only

(3) (B) and (C) only

(4) (B) only

can deny to



109.

110.

111.

112,

113.

T iR I U T O B
3Ry g™ wE=

(1) I 93T - FHad

(2) ofFEd e - HEAYL

(3) fer - M=

(4) TRE - AR

g § frae T ¥ fEEEE e

e & 7

(1) 4 2 5

3) 6 @) 17

g dfgas # o U FRiEEy
ofeq’ & HeY §

(1) Ha<E 9Tt |

(2) TEEEE A

(3) H9arE 9

(4) e |

Frtifera el Y e i

(A) 1989 % THEH FEN F IR
Y PRG-I’ i GREE qH
AR

(B) 30 A ¥ 9 _wibaw |
a9 a9 qE F w9 F I |

I F9F H § FA-A FAT 7878 7
(1) 3aa (A) T 2

(2) Fa (B) Wl ©

3) (A) T (B), 3 T8 ¥

(4) T (A), T B) T E

Freifrg & ¥ 9 ‘oiftEe’ ¥ HEEd
g2

(1) e

(2) g

(3) yAI

(4) =
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109.

110.

111.

112,

iF‘a dﬁ(ed as the second largest'

113.

A

Identify the incorrect pair of State
and Demand for new State therein

(1) Uttar Pradesh — Kosal

(2) West Bengal — Kamtapur

(3) Bihar — Mithilanchal

(4) Gujarat — Saurashtra

How many States in India have
bicameral legislature ?

(1 4 (2) 5

(3) 6 (4 7

'"The Westminster Model' adopted in
the Indian Constitution is related to
(1) Parliamentary System

(2) Republicanism

(3) Federalism

(4) Secularism

Consider the following statements :

(A) The _phenomena of 'Congress
System' collapsed with the outcome
of Lok Sabha Election, 1989.

Election Congress

in the Lok Sabha.
Which of the above statement is correct ?
(1) Only (A) is correct
(2) Only (B) is correct
(3) Both (A) and (B) are correct
(4) Neither (A), nor (B) is correct

Among the following, who is related
to 'Pacifism' ?

(1) Tolstoy

(2) Bakunin

(3) Mussolini

(4) Hegel

P.T.O..



114.

115,

116.

117.

118.

(24)

IE-g69 F MW RO 29 B Ul
F 98 ved g A w4 7

(1) o=l (2) g

3) frE (4) it

T F SER (N & emE) F R
ST 9 Fel § IO gar ?
(1) eI |

(2 F@ |

(3) feEr ¥

(4) IO WA

Friifbd & & F9-@ gEw ol
AR & AR #1 WA w7

(1) FaET

(2) ‘GFE TN ofF T

(3) ‘UZeH ol A’

(4) Recwia &F & WeaeH 27 Ha.

e affd 3 e e Fed @
?

(1) So&d g Hedr affa

(2) SIsNE Fear afufe

(3) HTHIET STEM

(4) fﬁo%ogﬁ?ﬂﬁ%

Tee-2 93 eeN 5

(1) EEd g ST A

(2) HET T g

@) fERd  MEEg R W ga
(diFaR) |

(4) 9N Isafe i St gar (i)
A
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114.

115.

116.

During Arab Spring, the President of
which country was dethroned first ?

(1) Algeria
(3) Egypt

(2) Tunisia
(4) Libya

The movement for the Right to
Information (RTI) was first started from

(1) Rajasthan
(2) Kerala

(3) Bihar

(4) Uttar Pradesh

Among the following, which Book
denounces the idea of Natural Rights ?

(1) ‘Leviathan’
(2)
(3)
€))

‘Second Treatise on Government’
‘Rights of Man’

‘Reflections on the Revolution in
France’

committee recommended

1 ich
tional recognition for the local
ental bodies ?

118.

(1) Balwant Rai Mehta Committee
(2) Ashok Mehta Committee

(3) Sarkaria Commission

(4) P. K. Thungan Committee

SALT-2 was signed between
1
(2)
3

Nixon and Brezhnev
Carter and Brezhnev

Mikhail Gorbachev and George
Bush (Senior)
(4) Boris Yeltsin and George Bush

(Senior)



119.

120.

121.

122.

P § § dF-a 29 Si-4 T #:

T e R, S ugw U @ g
oRYE Rl e & Uh-aE @ e
P T FAT & 7

(1) AT (2) S
(3) R (4) o7 ST

1984 & I & W BT Iz A A
g e ST & e fpar T e 7

(1) e 3T

(2) AFEE R

(3) forsmes smam

(4) e ST

dfeue & oTy®T 249 F i Hehew
ad F % fm s & e
el F guee SEsgE © 7

(1) JURYT TE HaaE & i qee
& 2/3 "EHT

(2) JURET U HEEM A A
F 2/8 dgHG qT WA b
el H agAd

(3) SURed Ud HAEH HA A qEe
F 2/3 TEHA qU1 T H W
o G H qgH

(4) TET % b B FEEl H T

H9 Gy §W H WEY Gma @7
wee J87 A ?

(1) HewE Hge
2) dio do FEMER

(3) THo HEg G
(4) e FOREH AT
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119.

120.

dda

122,

A

Among the following, which country
is not a member of G-4 nations,
which support each other's bids for
United

permanent seats on the

Nation's Security Council ?
(2) Japan
(4) South Africa

(1) Germany
(3) India

Which Commission was constituted
for the enquiry of excess done during
1984 riots ?

(1) Shah Commission
(2) Nanavati Commission
(3) Librahan Commission

(4) Srikrishna Commission

Support of how many members of
Rajya Sabha is required to pass the
resolution under Article 249 of the
Constitution? '

(1) 2/3™ of the members present and
voting

4 of the mémbers present and

ng and majority of the total

members of the House

(3) 2/3™ of the members present and
voting and majority of the total
membership of the House

(4) Majority of all the then members

of the House

Who was not a member of the

Drafting Committee of the
Constituent Assembly ?

(1) Mohammad Sadullah

(2) V.T.Krishnamachary

(3) N. Madhav Rao

(4) Alladi Krishnaswamy Aiyyar

P.T.O.



A

123.

124,

125.

126.

127.

e & ATREAT g B @ fo-
HHea T &

(1) @adr (2) FHET

(3) e @) =

sﬁagaﬁﬁﬁfﬁﬁﬁmf%maﬁ%'

T4 U FE FAGHA B e

[A] e @l 1 ene
[B] @& #Fe

[C] STEselar s
[D] ST G8UE Hehe
(1Y D=C=A=B
(2 A-B-C-D
(3) B-C-A-D
(4) C-A~D~B

TG YR F BT, AT oIS -REid
% WO URoeg § g 787 &

(1) zfErEag
(2) TIaR
(3) FWEE

(4) FA-SNT=REHTEE

P ad i@ e &= g 3
T i fFEied qrgarEr &R
fopar o7 ?

(1) 1956 i
(3) 1958 {

(2) 1957 ¥
(4) 1959 #

- HiaUH & wgeT 355 § Sfwiad e

' 3§ Rafedl 9 gearf

(1) I& U9 & SR
(2) & U9 9 famE
(3) &I STFRHYT UG 3fdiieh SHeTifel

) JARE A vd G fame
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123.

124,

125.

127,

The key concept in Marshall's idea of
citizenship is

(1) Liberty (2) Equality.

(3) Fraternity (4) Justice

Identify the correct ascending
chronological order of the following
events related to the Cold War :

[A] Bay of Pigs Invasion

[B] Suez Crisis

[C] Eisenhover Doctrine

[D] Cuba Missile Crisis

(1) Db-C-A-B

2 A-B-C-D

3 B-C-A-D

(499 C-A-D-B

Identify the notion, not related to the
Traditional perspective of Political
Theory

(1) Historicism

(2) Positivism

(3) Institutionalism

4) Legal-Formalism

ich year the Congress ruled
1 "Government dismissed the

elected Communist State
Government of Kerala ?

(1) 1956 (2) 1957

(3) 1958 (4) 1959

Identify the two situations of

Emergency mentioned in the Article
355 of the Constitution

(1)
(2)
(3)

War and External aggression
War and Armed rebellion
External aggression and Internal
disturbance

Internal disturbance and Armed

(4)

rebellion



128

129.

130.

131.

132.

133.

(27)

TRHE  dfeuE & og™s 30 A
(1) o9 37 91 )

(2) 9 A fag o

(3) ¥ T HEl |

(4) foafa v depid o

- A1 EE | gead
TR ?

(1) e (2) & g AR
(3) AR (4) UH & T

9 3 gmeA-fasid & gfaued e
fpam & 7

(1) ommed 89 A

(2) o ded A

(3) Tae Hifors A

(4) o dio AFHEET

=5 M 021 o S T o< SO ) O A
T AHE § g e g F e
27 TSI TGO &l a8 ST T 7
(3) THo dfRo &= a
(4) 3f~=Tr Ere=t

e s e A [ 2 | A O
freifhg & @, F9-91 HEeaT W
Prerl § gafrq 787 & 7

(1) T fa-gdam

(2) FAF gomH

(3) el & TR

(4) -Tel1g ot ufRar

P UoFifg-fasid &1 ‘g= Mg
ffas & =9 § affg e @ 7

(1) & T

(2) NG 9EE

(3) fm ©™

(4) dio Mo Hea

(1) 9H9 U9
(2) o Hio Hea
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128.

129.

130.

131.

133.

A

In the Article 30 of the Indian
Constitution, ‘Minorities' are based on
(1
(2)
(3)
4)

What is not related to Arms Control
or Disarmament ?

(1) START (2) MTCR

(3) SALT (4) SDI

Who has propounded the Capability
Theory of Justice ?

(1) Amartya Sen

(2) John Rawls

(3) Robert Nozick

(4) C. B. Macpherson

After
Judgement,

religion or language
language or script
religion or culture
script or culture

Court
reservation 1In

which
27%
services

Supreme

Government for other

Backward Classes became valid ?

) Waman Rao

) C. Mehta

) . Bommai

) a Sawhney
132

Among the following, which concept of
the dynamics of Indian Politics is not
related to Rajani Kothari ?

(1) Multiple bi-polarity

(2) Congress System

(3) Politicization of Castes

(4) Non-Party Political Process

Who has desecribed Political Theory as
'word dependent reflexion' ?

(1) Dante Germino

(2) Rajeev Bhargava

(3) Leo Strauss

(4) V. R. Mehta

P.T. O.
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(2) A ST &

(3) UREMH ST &R

(4) 9 &M

it fremeamaelt & @ @9 g @)
e TF Gfew e & wg §
g ® 7

(1) TR (2) wieaw

(3) TINEE  (4) INEEAER

A dfeue & or®e 25 4 defm
frfeifad oMt W faar #if

(A) T P FAAd B ATER Faw gl
AR fEEr T E
(B) 39% BN SdFT @ wasar

gifeea it 7 By

(3) (A) & (B) 3 Wl &

ST U H q B B FeT D P
@ T@W),TE® e
e =R dres e § @

(1) #a9 (A) §& @
(2) #ad (B) §el &

e F IAH HeT & 2

(1) &R A 9YF T qHE o
(2) FMR AR TP T AU e

(3) HIF U AR Ud fawrg qxieH
(4) HIFT S fr R

fFreifed & &, T 1 F9-a1 qYe
M-20 F GEF & ?

() I 99 (2) TF

(3) oTfEaH (4) H'a®
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134.

135.

136.

138.

Who decides, which Lok Sabha
constituency is to be reserved ?

(1) President

(2) Election Commission

(3) Delimitation Commission

(4) Parliament

Among the following ideologies, who
regard the Nation primarily as an
'organic' entity ?
(1) Liberalism
(3) Socialism

(2) Conservatism
(4) Anarchism

Consider the following statements
regarding Article 25 of the Indian
Constitution :
(A) Right to Freedom of Religion is
given to all citizens only.
(B) Freedom  of
ascertained by it.
Which of the above statement is correct ?
(1) Only (A).is correct
(2) Only (B) is correct
)__Both (A) & (B) are correct
) ther (A), nor (B) is correct

conscience is

serving as the successor to

which of the following organization ?

(1) General Agreement on Trade and
Tariff

(2) General Arrangement on Trade
and Tariff

(3) United Nations Conference on
Trade & Development

(4) United Nations
Programme

Development

Among the following, which grouping
of Nations is a member of G-20 ?

(1) EU (2) APEC

(3) ASEAN (4) CELAC



139

140.

141,

142,

143.

144,

Aoedl daar ¥ gfear-gest 3 gen
r

(1) 53 (2) 56
(3) 58 (4) 65

‘SR g Hiew TEad ©
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139.

140.

141.

142.

143.

144,

A

The number of women members in
the Sixteenth Lok Sabha is

(1) 53 (2) 56

3) 58 (4) 65

'Operation Enduring Freedom' is
related with

(1) War Al-Qaeda
Taliban in Afghanistan

against and

(2)
(3)
4)
What has not contributed -to the
Decline of Political Theory ?

(1) Paradigm Shift

(2) Ideology

(3) New Science of Politics

(4). Logical Pesitivaism

Israel's invasion on Gaza Strip
Missile attack on Sudan
First Gulf War

The Politics of which State is polarized
oifVokkaliga and Lingayat castes ?

Ea
1 Nadu

(3) Andhra Pradesh
(4) Karnataka

Who

Economics' 1in
'Sustainability' ?

'Buddhist
context of

discussed
the

has

(1) Keynes (2) Galbraith
(3) Hayek (4) Schumacher
Among the following, who has

differentiated between Natural and
Conventional Inequality ?

(1) Plato (2) Aristotle

(3) Hobbes (4) Rousseau

P.T O
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T TYF W &Y ° afuferd g
(1) 26, 1945F

(2) 24 STFCET, 1945 H

(3) 30 STE, 1945 H

(4) 15 37T, 1947
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(1) &R @) =i
(3) W (4) TH

Ty w1 o @ e 5 deaE @
forar mar 2 2

(1) fafesr dfem

(2) HFFd T SHRE & Higus
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T B

(1) =9
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(1) CgH
(3) T

(2) G
(4) ITET

HioflosMEo (o udo) o1 Teq Ream
o]
(1) =il T g

(2) =6 FIHER &
(3) To FHo MU BRI

(4) THo Udo [ &[T

(30)
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145.

146.

147.

148;

149.

150.

India joined the UNO on
(1) 26 June, 1945

(2) 24 October, 1945
(3) 30 October, 1945
(4) 15 August, 1947

In 2004, where was the meeting of the
'World Social Forum' was held, which
was the first to be held outside Brazil ?
(1) Karachi (2) Mumbai

(3) Nairobi (4) Dakar

The idea of the 'Rule of Law' is taken
from which Constitution ?

(1) British Constitution

(2) USA Constitution

(3) Irish Constitution

(4) Canadian Constitution

What objeetive~has been set in the

Preamble of the Constitution to
specifically assure the 'dignity of the

individual' ?
( stice
( uality

Which organisation is not related to

(2) Liberty
(4) Fraternity

Latin America ?
(1) ANZUS
(3) ALBA

(2) CELAC
(4) UNASUR

C.P.I. (M.L.) was formed by

(1) Indrajeet Gupta
(2) Charu Majumdar
(3) A. K. Gopalan
(4) M. N. Roy

Level-3/167
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10.

1.

12,

13.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O ®

The answer will be treated wrong, if it is marked, as
given below :

O ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Ahswer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test

Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates arenot allowed to carry any textual material,
ptinted.or written; bits of papers, pager, mobile phone,

. electronic device or any other material except the Admit

16.

17.
18.

19.
20.

inside the examination hall /room.

te must show on demand his/her Admit
R .) to the Invigilator.

a , without special permission of the
erin t or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in-
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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